A5 Period-end Adjustments Relating to the Preparation of

Financial Statements (ll)

Name :

Chapter 11 Depreciation of non-current assets
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f5]F: the company acquired a machine of $80,000 and paid freight $1,000, installation $8,000, annuary maintenance $3,000,
Annuary insurance $2,000, testing $4,000, training $5,000. Identify capital expenditure and revenue expenditure?
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. . depreciation charged = (cost — residual value) + useful life R
Straight-I thod —
raight-line metho depreciation charged = cost x fixed depreciation rate P s
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Usage-based method depreciation charged = (Cost — residual value) X Depreciation rate
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f5]F: In 1 October 2011, the company brought a machine of $240,000. Calculate depreciation of the machine in 2011.
(a) Monthly on a straight-line basis with a useful life of 10 years and a residual value of $40,000.
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b) Monthly on a straight-line basis at 10% of the machine cost.
c) Reducing-balance method with accumulating depreciation of $100,000 at a rate of 20% per year.
d) Based on the number of machines produced, a total of 10,000 units of machines to be produced and a

residual value of $40,000. The actual number of machines produced in 2011 was 2,700 pieces and prepare

the required journal entries.
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f51-F: A car, which was purchased for $100,000 in 2014, was damaged in a traffic accident and then sold for $30,000 in
2017. Depreciation on car at a rate of 20% per annum on a reducing-balance basis. A full year’s depreciation is to

be charged in the year of purchase but none in the year of disposal.
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Accumulated depreciation: Car ($100,000 x 20% + $80,000 x 20% + $64,000 x 20%) 48,800
Bank 30,000
Profit and loss—Loss on disposal 21,200
Car 100,000







